LESSON19: 2NT OPENING BIDS

1. What are the two key requirements for a 2NT Opening bid?

2. Isa 2NT Opener a forcing bid?

3.  Whatis the Stayman bid after a 2NT opener?

4. What does Responder’s 3 bid mean after a 2NT opener?

5. What is the minimum number of HCP needed for Responder to make a Transfer

bid after a 2NT opening bid by partner?

6. What is the minimum number of HCP responder needs to bid 3NT after a 2NT

opener by partner?

7. If the bidding goes 2NT — (P) - 4NT, what does Responder’s 4NT bid mean?

8. How many HCP are recommended for a partnership to have between them, to
bid and make a 6NT small slam?

9. What is the minimum number of tricks which must be won to defeat the
Opponent’s small slam contract?

10. How many Aces can the partnership be missing to make a 6NT small slam?
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11. Opener bids 2NT, RHO passes and Responder bids 4NT. What is Opener’s rebid?

a) b)
AAQT AKQT9
vKQ9 vAJ73

¢KQJ74  eAQ

®Al %KJ5

c)

AA)T
YAIT
*KQ
&KQJT9

12. Partner opens 2NT. What is your response?

a)
A)972
v543
¢T865
%93

b)
AKJT75
v9
*K62
%8743

c)
AK932
vQT54
*38
%762

d) e)
A)987 AK4
vAKO YAKQTS
¢AKO ¢A873
*AQ6 *AQ

d)

A7 6

vQJ9832

oK 4

&T85

13. What next with hands 12 b), ¢) and d) above, when the auction starts as below?

b) 2NT 3w

3a- 7

c) 2NT 3
3¢ °?

d) 2NT

3e

3¢

?
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14. You are West holding the hand below and open 2NT.

What do you bid next after these auctions below?

AAK6
vA7
¢+KQ954
%KJ3

a)
West
2NT

3v

East
3¢
3NT

b)
West
2NT
3a

East

3NT

West
2NT

East
ANT

15. You are West. What is your next bid in the following auctions?

AaKJ3 AKJ32
vQ6 vYAQ74
¢AKQ *KJ9
®AJ972 *AQ
West East West
2NT 3« 2NT

? 3v 3NT

?
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16. What is your partnership score on the following:

a) 3NT vulnerable making 10 tricks?

b) 4S vulnerable making 10 tricks?
c) 3NT non-vulnerable going 2 down? =
d) 3NTX vulnerable going 3 down?

e) 6NT vulnerable making 13 tricks?

f) 7NT vulnerable making 13 tricks?

17. Partner opens 2NT - what do you respond with these hands?

a) b) c) d) e)

A KJ8754 4 AQ32 452 4 6532 4 Q9852
vJ5 vJ532 v KI762 v Q62 v KQ542
4743 ¢85 4865 41085 ¢85

® 97 % 1097 & A72 & 97 9
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